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SH: AT
Hu: PANY BHS(P2/PAIAR)
Chel: SHdF 2 EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OLIRIZE ANYE 22a
20,0003 *5H 100
OSEEAHYAI =4 AX =z
350,000 x4F«12& 16,800
OUIRA HCHHAIALY 42
20,000& *12& 240
oQzmlig 8g8J 7
10,0003 1000+ 12& 1,200
02 SE==29| 3,000 3,000 0
OXH2Ho 20|25 23
3,000,000&*12] 3,000
203 AR F=&lH| 8,000 8,000
03 Al FRIHRFAIY| 8,000 8,000
OBdAL FRAE s =&
5,000,000 * 14 5,000
OFASIM 22 =x
1,000,000 *14] 1,000
OAAEN Y2 =/
1,000,000 *14! 1,000
Ouggel g2 =&
1,000,000 14! 1,000
2012 W2 296,979 125,955 171,024
201 B2 AY| 62,229 58,712 3,517
01 At=R2teld| 22,346 15,383 6,963
OFA 2228 2L g2
—HICHEER 2 5,000&+ 122 60
—3t&E4a 2A2ES
7,000 x8 A+ 122 672
—&HABE 10,0002 x25+12& 240
OFAL AYAIE S22 HH(SE FLE
& EE) 300,000& =123 3,600
og=2stsll Al &4l |XIH| 1,651
—&2es)| 224 28 wAH(OtAaaed
2/) 200,000& *5&+12] 1,000
—st2&88E)| A2
8,452,830& *7/1001 . 1 651
Ozl 28 SNUES B +48
250,000 x1CH* 123 3,000
OBdA H3E A2 FIIUNEE &Y
3,200,000& *23| 6,400
OFAL HHE MIE(2A) =Y
4,500 *1,494m’ 6,723
02 S=29| 39,883 43,329 A3,446
OFAF EIIAAE SR
500,000 *23| 1,000
OFAL CCTV &H| KXzl
300,000 *23| 600
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FA A
Hu: PANY BHS(P2/PAIAR)
Hel gy e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 750 743 7
O=2(M)A & BAHXZA HE 2L
e 2 30,0003 #2654 750
401 AIEHIX R0 220,000 40,000 180,000
01 A28l 220,000 40,000 180,000
OE24 Fid & AIEE HES
5,000,000& 4= 20,000
O=AA(F2) stEa e|2gdy
200,000,000& *14] 200,000
405 AHatE = 14,000 26,500 212,500
01 MMM ESFSHI 14,000 26,500 212,500
SAA(AR) SHEA HLHED)
3,500,000 *4CH 14,000
22AXL &2 AL 2 917,613 916,998 615
101 ©1AH| 119,157 127,392 A8,235
04 JIZtN2Z2XNSE+ 119,157 127,392 A8,235
OBAUXA AZEX QFY 119,157
-2y 80,2403 x5H 239! 95,887
—F5(¢)=< 80,2403 x5 »58 23,270
201 er2 3| 327,256 313,746 13,510
01 AtR2t2|HI 120,400 115,360 5,040
ourEeE d=J| 2 WA 6,760
—E2AAL 65,0003 *42|*30H A 780
—22AXA 65,0003 *42] *100H A 2,600
—2AM24 65,0002 *43|* 130 & 3,380
OLZIIER S B E MA ]l
300,000 35 900
OFAZeIEE 7Y 5,520
-2 20,0003 1004 2=x 123 2,400
—2AM24 20,0002 #1304 A% 123 3,120
Oglg 282 (A4, 2ATZA) 4,400
—3SEH2A 100,000 x10SH =15} 1,000
—SSEAAAM(EHS)
100,000 »18E ~1=F 1,800
—2SAL JI2 80,0003 x20H *15 1,600
O2gHJl= MAE] 28
5,000 «23 A+ 128 1,380
ORHIZA 2dg3 F&E
100, 0002 x 152 %13 x 1304 A 19,500
OoRAdzA 2y &35 =¥
100,000 x 13 #4353 5,200
OZEHHIIZ2 ML +==2(=T 28t
2 HMel) 21,540
—E22AAn 300,000& x 104 2% 123 3,600
—22AXA 65,0002 x 1004 2=+ 123 7,800




FA A
T BAAY BESH(D2/D29R)
Chel: SHdF 2 EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
—2AEA 65,0003 134 2+ 123 10,140
OFIIAIL RIS 442 21,360
—BAA (A, )
125,000 x204 2=+ 123 3,000
—E22AXA 90,0002 9 A+ 12 9.720
—2AEA 90,0003 *8H Ax 122 8,640
OFA B AE 2E ®Xl2t 24,480
—2AA (A, F2)
100,000 x20H 2% 123 2,400
—E22AXA 80,0003 *x10JH 2% 123 9,600
—2AEA 80,0002 1304 A 123 12,480
OSYEHAEXI(S) #XIZ+ 9,360
—2244 130,000 10 A% 123 1,560
—22AXA 65,0003 1004 2% 123 7,800
2 S5=24g4l 206,85 198,386 8,470
OdIIea(2AHXIA)
690, 0002 * 104 A~ * 12 82,800
Odlea(2Hda4)
420,000« 134 2xx 12 65,520
Odales 11,040
—22AXA 40,0002 x 1004 2+ 123 4,800
—2ANEA 40,0002 130 A+ 123 6,240
Odot=e=s 4,584
— 22X 20,0003 1004 =% 123 2,400
—E2Ai=A 14,0003 1304 2% 123 2,184
Odatx 4 =8 510
—2A84 85,0003 *6IH A +12] 510
OZHl |KANESHI(2AXIA) 2,120
—XNN2E FH(ABAFUE 21 735)
100,000 85 *27H 2x+20/100 320
—HAYBTA 2SHHI(ADIAX 2 55)
100, 0002 *6Z 107K 220/ 100 1,200
— BRI (HTE LA 2 28)
100,000& *35 1074 £+20/100 600
OFHl |SAUE+H(2ATZ ) 2,340
—AL SN S2SEHI(A0IX 2| 55)
100, 0002 x6Z* 137K 220/ 100 1,560
— BRI A (HTE LA 2 28)
100,000& *35 1374 £%20/100 780
OREYS AMEE 2,484
—E22AXA 9,000« 1001 2+ 12 1,080
—2ANE A 9,000& 13 A+ 123 1,404
OFAl HEE H=t| 5,358
—224 DA (HE A2Y)
23,5002 x 120+ 104 & 2,820




SN 2ARMD
I PAANY SHEH(2A/2AH2R)
el SHddE e EER=E)
% » SIE
SN - BE - BI(EH) - MRAY - BES ol ke e HimES]
—AZBHTSA(LPOIA H2H])
4,700 *90m <62 * 10 A 2,538
OUAIERAE WD OHAEA 242 2,500
—SBAX 2 250,000 * 13| % 107H 4 2,500
OA2 |22/ 23,000
RRCaDNES 1,000,000 * 1000 2 10,000
—SAT2A 1,000,000%! % 1300 2 13,000
Odterdyl SXIE4 4,600
—SAX 2 200,000 ¥ 100 2:+13] 2,000
—gAxE A 200,0002 137 213 2,600
307 2I2H0| & 401,230 407,660 26,430
01 22 & 3= 401,230 407,660 26,430
OXNSHESAII(AD) 228 7Y
500,000 * 174 500
OTS U2 =Y & %42 FH
200,0002 *2CH 400
OxZotE FY(BAXIL) 189,600
—orat 162,000
- ASIIH(JIML 2 3BE)
300, 00024 9 %122 32,400
- E=EDIH(QAIR 2 195)
300,000 9 2% 122 32,400
ZS2AHE Y 2| 215)
300,000 QI %122 32,400
- SEINAHOIEEIE 2 25F)
300, 00024 9N %122 32,400
- OISR E(mLete! 63)
300,000 *9I %122 32,400
—gtet 14,400
ASPIAH(ERIA 2| 88)
30,0002 8 %128 2,880
2| H(QUATHS AL 2 75)
30,0002 8 A% 122 2,880
2BAN(LE Q| 55)
30,0002 8 A% 122 2,880
- SEJIH(AEEE 2 8F)
30,0002 8 2% 128 2,880
JIEtEE (22 2 55)
30,0002 8 A% 122 2,880
—MZ8 ARE 13,200
UL Z AP E(AZHI 2| 20ZF)
80,0002 %1004 %122 9,600
SR ARE(L3EE 2 158)
30,0002 8 %128 2,880
CADVTR ARB(HHN 2| 155)
30,0002 24 A% 122 720
OTZo|AtE FY(BATZA) 199,680




SN BAH M
I HAAY SASH(EH/EAAR)
el SHddE e (St &)
SA - HB . S(H) - HIRAY - BAS ol by e HIRS2
— R o|oE (YL 187,200
- AP (RIHLIEIE 2 8F)
250,0002! * 1301 A+ 122 39,000
- =B (HAD 9 20F)
250,00024*130 A* 122 39,000
- 2ZAA(TILIAE 9 21F)
250,00024+1304 A* 122 39,000
- SEIAH(RYEA 2 158)
250,0002 * 1301 A+ 122 39,000
- DISRSHHLI2IR! 2 6F)
200,00024*1304 A* 122 31,200
—FEE8 ARE 12,480
ULR2 ADB(AEEA 2 3035)
80,0002 *130H A 12 12,480
O A AR} BIHE A
65,0002 x852 %23 11,050
401 AlEH L 20| 46,000 46,000
01 Al&H| 46,000 46,000
OBAX(RZ)A BZME L AES HES 46,000
—2AR A 2,000,0002 % 1074 A 20,000
—2ATEA 2,000,000 * 1394 A 26,000
405 RHAHE SHI 23,970 22,200 1,770
01 KU SEF SH| 23,970 22,200 1,770
OAZLMI|(HHBARZA)
3,800,0002*1CH 3,800
O0ISAEHAH (27, AE, &)
330,000 *3CH 990
OSMAIEII (ST A)
550,0002*1CH 550
OFAI|(28E2HXIL)
350,000 *1CH 350
Odue)| 6,600
—ABISE (K 3,000,000 *1CH 3,000
—=H2A0|S(FY, =)
1,800,0002 *2CH 3,600
OS=82 Iy 160,000 *23CH 3,680
Oolgg sttie 1,000,0002 *8CH 8,000
(2)sHEEAA S 0|® ASAIY 288,000 11,850 276,150
N 192,000
[ 48,000
Al 48,000
405 KHAHE SH| 288,000 11,850 276,150
N 192,000
[ 48,000
Al 48,000
01 KU SEF SH| 288,000 11,850 276,150




EA: BAHAM
Hu: PANY BHS(P2/PAIAR)
cel: BAHgI 2t (EEEE))
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
ORSELH 7 (22AL)
3,000,000& *1CH 3,000
Xl 2,000
o= 500
Al 500
Opio2 4| Y (22L)
60,000,000 &~ 1CH 60,000
Xl 40,000
= 10,000
Al 10,000
OUXNE A EAEX] 2 (EAHA)
210,000,000& *1CH 210,000
Xl 140,000
= 35,000
Al 35,000
OAUZHE D 2A(0|AEAHXIA)
7,200,000& ~1CH 7,200
Xl 4,800
& 1,200
Al 1,200
OXNSUEHEH RU(FEEHEZSA)
1,200,000 *1CH 1,200
N 800
& 200
Al 200
OAZLA)| RU(SHBHEZA)
3,300,000 *1CH 3,300
Xl 2,200
& 550
Al 550
OABEE)| PU(RMEHEZA)
3,300,000 *1CH 3,300
Xl 2,200
& 550
Al 550
(R)oAZF %X 2HFR2HA 29,828 35,444 N5,616
Xl 14,914
& 7,457
Al 7,457
307 S1ZH0| & 29,828 35,444 15,616
N 14,914
& 7,457
Al 7,457
01 2 & 3|=2H| 29,828 35,444 N5,616
O F X AAFEY| 29,828




FA A
Hu: PANY BHS(P2/PAIAR)
Hel gy e (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—g=HYNEE 7,457,000 +42] 29,828
N 14,914
== 7,457
Al 7,457
SUYH A 5,039,335 4,910,517 128,818
= 538,170
N 250,000
Jl 49,090
< 752,430
Al 3,428,098
= 21,547
2AEA ALY 115,105 116,220 A1,115
201 fer=3| 27,600 43,600 216,000
01 AtR2t2|HI 27,600 43,600 16,000
ORXEAME EE2= HH
20,0002 x15+5002 10,000
ORIg2A 8= HHe 6,600
—&==% M 60,0003 %108 600
—85F= ¥ gF=3 MR
2,0002 *35+1,0000K 6,000
Os=tin =28 g2 ¢
35,0003 +40 1,400
OREZNEH+E M3
8,000& *3& 400K 9,600
206 MH=H| 13,800 4,180 9,620
01 M=4l 13,800 4,180 9,620
OgetEna M=
30,0002 *x30H +73] 6,300
Oty ¢=)] Mg M=Hl
5,000&*1,500H 7,500
301 EtE N = 5,005 8,040 A3,035
11 #AIMHIXIE = 2,605 6,840 N4,235
O wal MRS
4,5003*30E*73] 945
O=tin 228 23 1,660
—Z208 ol X
20,0002 +40% 800
—HHA 282 X2
250,000 23] 500
—H0A 2N WS
4,500 x40 *23] 360
14 JIEt2 8= 2,400 1,200 1,200
O2XEAAMY Z20d 2Y 2AsH
120,000& »202] 2,400
307 el2tol & 68,700 60,400 8,300
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8,300

19,489
21,611
21,611

8,400

A\8,400

A25,200

2,519,400

2,500
2,500

MEE
Ofl &k2h

60,400

30,300
30,300

2,574,900

2,544,600

500,000

Ofl &F2H

1,500

68,700
59,600
35,000
23,100
9,100
2,565,411

21,611
21,611
21,611
16,851
4,760
21,900
21,900
3,000
6,000
4,800
6,600
6,000
600

1,500

2,519,400
2,519,400

2,189,400

2,500
2,500
2,500

500,000

165,000

2,024,400
410,400
882,000
330,000
250,000

732,000

Xl

125,000
125,000

500,000

iy

- HyS

- SRA(E) - HIRAY

S - B

20,0002 #3508 +5&
5,000 *100&H+35
22,0002 x350E+3S
130,000 *70H

—ItSII0E SAHAl
OF Sl

01 2

A
=

I A

o
=

& X
101 e124d|

t

K0
%0

H

20,0002 +300CH
400,000& * 12
60,0002 108

4,760,000 * 14!
250,000& = 128

80,2403 x1H+210&
2,000& x35+1,0000H
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—4UEE
AMEAAAE R 24|
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0
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02 At
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250,000 *100H

200,000 +171E 122
300,000 x245H « 123
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FA A
Hu: PN BHS(P2/PAIAR)
el SAEY A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Xl 250,000
=S 125,000
Al 125,000
02 QI AHANEER 500,000 500,000 0
O=2gheteln 2 XId
500,000,000 * 14 2 500,000
N 250,000
S 125,000
Al 125,000
(F)HEAEMR /S oJFH| X 1,000 1,200 A200
2l 500
= 250
Al 250
301 EtE NS 1,000 1,200 A200
Il 500
= 250
Al 250
01 Al EE A S (2 DEXR) 1,000 1,200 A200
O&FAYE &2 ojgH| X
1,000,000& 1 1,000
Il 500
= 250
Al 250
(2)Afgaeo = XA 28,000 28,000 0
Il 14,000
= 4,200
Al 9,800
307 elztol & 28,000 28,000 0
) 14,000
= 4,200
Al 9,800
0192 & 3=l 28,000 28,000 0
OLASELME 25| X2
2,800,000& *10H 28,000
Jl 14,000
[ 4,200
Al 9,800
(2)0I=0t 2 dEHolatot o=Hl XI& 12,000 12,000 0
Jl 6,000
[ 1,800
Al 4,200
307 glztol & 12,000 12,000 0
Jl 6,000
s 1,800




FA A
Hu: PN BHS(P2/PAIAR)
el SAEY A (SH9 H2)
S - EE - BRI(EH) - AIRAY - BAS of v e HIDE2
Al 4,200
012z & a=Hl 12,000 12,000 0
OO0I=0t & A& H0la0r 2 ZHI X
600,000 20 12,000
Jl 6.000
= 1,800
Al 4,200
() S U A0l A B AR EHot2te 20,000 22,000 /2,000
Il 10,000
= 5,000
Al 5,000
301 LEetE N = 20,000 22,000 /2,000
) 10,000
= 5,000
Al 5,000
01 Al EEABZ2(2DEEMR) 20,000 22,000 A2,000
O EUAOIE S AL & Etot2te| XI&
1,000, 0002 x20H 20,000
) 10,000
S 5,000
Al 5,000
()L HEHPMN L EFI| XY 2,000 2,600 2600
) 1,000
S 500
Al 500
301 EtE NS 2,000 2,600 2600
Jl 1,000
S 500
Al 500
01 AR 2EHSHS(RNEXRTH) 2,000 2,600 2600
Ootd XJI8e X 500,000& ~4H 2,000
Jl 1,000
s 500
Al 500
(2VIHA & =MES X2 196,000 166,000 30,000
= 98,000
=S 29,400
Al 68,600
301 EtE NS 196,000 166,000 30,000
= 98,000
= 29,400
Al 68,600
01 Al EE A S (2 RDEEA) 196,000 166,000 30,000




S2A: AR M
Hu: PN BHS(P2/PAIAR)
el SUEA A (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OMASE JIH7 2 ZHES NAA
784,000 250 196,000
= 98,000
= 29,400
Al 68,600
(22N EAHAHEER0IET| 2 27,107 26,959 148
| 2,780
= 1,390
Al 1,390
= 21,547
101 2124l 27,107 26,959 148
| 2,780
& 1,390
Al 1,390
= 21,547
M IIRNZ2E2XsSEs 27,107 26,959 148
OBXNEHAIY X018 012 S
27,107,000 14! 27,107
| 2,780
T 1,390
Al 1,390
= 21,547
(2)ERO0AHLHE 2,250 2,813 ABB3
| 1,800
Al 450
301 LetENZ 2,250 2,813 563
| 1,800
Al 450
01 Al B&XHZ2(2REETR) 2,250 2,813 ABB3
OgR0t A22&Hl XA
50,0003 459 2,250
| 1,800
Al 450
()Y ROtLLZOHY LA AHIXI2 1,463 2,050 587
| 1,170
Al 293
307 QIZ2t01A 1,463 2,050 AB87
| 1,170
Al 293
01 22 2 3=H| 1,463 2,050 VANG 74
OG0t LT LA A XA
146,300& 10 1,463
| 1,170
Al 293




FA A
Hu: PN BHS(P2/PAIAR)
el SAEY A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
()EROIRALHIES 1,675 1,675 0
Jl 1,340
Al 335
201 er2 3| 1,675 1,675 0
) 1,340
Al 335
01 AtR2t2|HI 1,675 1,675 0
O22g0==d Xt ABHN 22= MA
1,000 *1,6754 1,675
Jl 1,340
Al 335
(F)Hordolgd X2 677,184 764,000 N\86,816
= 440,170
== 71,104
Al 165,910
301 2= 677,184 764,000 N86,816
= 440,170
= 71,104
Al 165,910
01 Al 2E A S(FREXMA) 677,184 764,000 N\86,816
Oxor0I2A X
677,184,000 x14] 677,184
= 440,170
= 71,104
Al 165,910
(2SI AIS BXMA= X 2,000 2,000 0
7l 1,000
= 500
Al 500
307 @20l & 2,000 2,000 0
Il 1,000
= 500
Al 500
01 2g & 2=Hl 2,000 2,000 0
OdSHI A 2XdAls NI
1,000,0002 x2&H 2,000
Il 1,000
= 500
Al 500
(D)4 ArEAZzte] X 16,000 0 16,000
Jl 8,000
= 2,400
Al 5,600
307 elztol & 16,000 0 16,000
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